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COMMERCE
Paper - II

1. Phase I of Ind AS (New series of
Indian Accounting Standards) was
applicable to

(A) All listed companies in India or
outside India

(B} Companies with turnover of INR
500 crores or more

(C) Companies with networth of INR
500 crores or more

(D) Companies with total assets of
INR 500 crores or more

2. Balance of Payments takes into
account the exchange of

(A) Only visible items
(B} Only invisible items

(C) Neither visible nor invisible
items

(D) Both visible and invisible items

3. According to the hierarchy of effects
model, which of the following
corresponds to the effective stage
that a buyer passes through ?

(A} Attention
(B) Exposure
(C) Adoption

(D) Conviction

1. gosAAY (el Ratot 260l il
AGl) Yar AWML Cld] scHi ALcL-

(A) @Rcl A Ul welRell eiellos
Yaloteg Suollaa

(B) % $uolloll as?A 3. 500 53AS WAl
Asdl ay B aa

(C) @ $Uollell A2adl 3. 500 535
wac adl ay & Aa

(D) % Suolloll et vRsHA 3. 500
sAs uuc Al ay B dal

2. Qg -zet ol geu ol (Qlua

RALAHL A 8.
(A) Mot a2uHLlel clrdall

(B) HIA AagAHlol crgll

(C) ol l qeAHIA R 3
UARRAHLoL el

(D) olRl GoiHlol Aol UGRUAHLoL ARl

3. ‘elsusl As S¥se Asa’ yxo, RAou

Hiell 520 AoLssl UUBLRS’ Aolssial
Yol B.

(A) Vool (tallel)
(B) sy
(C) AShate(<lsA)

(D) secllsalet
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4.

The degree of Monopoly power is
measured in terms of difference
between

(A) Marginal Cost and the Price

(B) Average Cost and Average
Revenue

(C) Marginal Cost and Average Cost

(D) Marginal Revenue and Average
Cost

According to RBI, is a statistical
statement that systematically
summarises, for a specific time
period, the economic transactions
of an economy with the rest of the
World.

(A) Balance of Trade
{B) Balance of Payment
(C) Current Account Balance

(D) Invisible item export statement

. GST on De-merit Goods is

(excluding cess).
(A) 15%
(B) 18%
(C) 28%
(D) 12%

. 'Two dice are thrown simultaneously.

The probability of getting a sum of 9
is

4.

gsomt2 allseiell HLmU Rl
dslaidotl Aeeldl Hua 2«ud 8.

(A) Rid Wl wa Brct

(B) 2219l Wl vial AR Wlds
(C) RHict vl At ARRAA WA
(D) Ruid las sl WA Wi

Rolus Yo s uissislA
RAeat B @ Wssy AHA HIR,0UEleAL

Qa A wdcintett wEs astell
@R URial 2 8.

(A) caruRedl dett
(B) Awil-23liel det
(C) AUY -Wliclle] Acjest

(D) uaA o @Astd AAeat

ER vl UR GST @x Rt/
Gus? Rala) .

(A) 15%

(B) 18%

(C) 28%

(D) 12%

. As A A WAL Fscunl wad Al

U 9 Hodlell Aetcstl 8.

(A) 1/10 (A) 1/10
(B) 3/10 (B) 3/10
(€) 1/9 (€ 1/9
(D) 4/9 (D) 4/9

I



8. Which is not a future oriented
performance appraisal method ?

(A) 360 degree appraisal
(B) MBO

(C) 720 degree appraisal
(D) Check list

9. The International investment
decisions

(A) And the domestic investment
decisions are same

(B) Differ from domestic investment
decisions as cashflows are earned
in foreign currency

(C) And the domestic investment
decisions are same because all
cashflows will be transferred to
the head office

(D} And the domestic investment
decisions are same as the foreign
exchange rates do not fluctuate

10. Accordingto , foreign investment
by MNCs results from three
competitive advantages they enjoy,
namely, firm specific advantages,
internalisation advantages and
location specific advantages.

(A) John Dunning
(B) Raymond Vernon
(C) Lewis T. Wells

(D) Hood and Young

8. s¢ elclletell yedlot ycauisat uald o2l 2
(A) 360 [(3ofl yeruisot
(B) 3 ofl 2
(C) 720 B3ofl yerliset
(D) As @z

9. idz-Ala Aswal [fal-

(A) ol ¢ Aslgl [AQlal vwl &

(B) u¢] ARl [ula scll 96l Ud B

51015 Aol AsssyUcle Qs
UAQHL sHRAA &

(C) ual uq Aslel (Al quu B
S12@t5 sl Assyale ast sAINA
METC IR

(D) A a2 Aslt (Alal vl &
st (el -RAMA €2 sledldl
a2l

10. —— WafAIR,MNC , (ugRuefla
suoflall) si=t [@2ell Asig et Fuelcns
cuelell uReun 8,8u¥, HssH AlssU
Lo, AictAE 250 Alell vl 2etet

QRlre cuell.

(A) %8t sylelal
(B) oS dRot
(€) Al 4. acu

(D) &S el 2dL



11. In case of management audit
(A) The auditor is to make his tests
to the level of tap management
and he focuses on the quality of

decision -making

(B) The auditor focuses on the quality
of operations

(C} The auditor verifies operations of
control and procedure

(D) The auditor examines effectiveness
of internal control

12. Rebate of Rs. 12,500 under Section
87A

(A) Taxable
(B) Tax free
(C) Tax free for NRI and HUF

(D) Taxable at 5% slab

13. Ifin the long run super normal Profits
can be made by a firm, it means the
firm belongs to

(A) Perfect Competition Market

(B) Monopolistic Competition
Market

(C) Monopoly Market

(D) Oligopoly Market

11. dAdfla-sE2Hi-
(A) SlUell UALAstoll 2c1Ra (322
UstA B wal [Agat-s2wl6dl 9jptalt
UR tallel 3ot 52 B

(B) B2 vluRaledell oRlattil UR
t2llol Elonct 53 B

(C) WR2? U oll (ARGl el

yBall UR talel Slact 52 B

(D) ¥WBe2 AUldRs [iraw.l

VUSRSl AUA B

12. Aset 87A 3601 3. 12,500 oll 92

(A) U
(B} 835l
(C) NRI & HUF 12 54scl

(D) 5%ell €2 SAUA

13. ol clioll UR A5 Ul sl WA ML
o8l Aol aslad B A dcll WA A B 3
Wl 8.

(A) yeledlss wen?
(B) S2AYst 835 o2
(C) xR e

(D) AUCELXNS THRL UXR
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14.

15.

16.

17.

A company can be said to have used
if the company distinguished

among customers buying on the

basis of price, services and quality.

(A) Global segmentation

(B) Micro segmentation

(C) Short-term segmentation

(D) Macro segmentation

What is IMPS in Banking ?

(A) Intermediate pay system
(B) Internal pay structure

(C) Immediate payment service

(D) Immediate payment system

FDI limit in insurance sector in 2021
is
(A) 26% (B) 49%

(C) 74% (D) 100%

The general agreement on Trade
Related aspects of Intellectual
Property Rights (TRIPs) was made
in the

(A} Uruguay Round negotiations

(B) Treaty of Rome

(C) Geneva Conference

14. ol suc{lA dfatetdl, At wa FHdell

WUR oo [Aeuswet ySa 8 A
SUo(lA . [Qed usldsil GualloL
sl owRlalHl A,

(A) dlls [@Qeuesat

(B) Yeu [Qeuerst

(C) &s1-9l0ue] ([QAetloset

(D) AL [Qeyseat

15. olo8lHi IMPS ¢ ®

(A} 82322 0 Rren

(B) 80220l U R5UR
(C) SERBANe QANee Ul
(D) RN ANz Ren

16. 2021 Hi ([ sl At @2sl

HIRAsIgEdl Halel el &
(A) 26% (B) 49%

(C) 74% (D) 100%

17. olllgs duel WERSIRATRIPs)ell QW2

A WHURA YR WML SAT___
Hi scUHl we2l gdl.

(A) G32d 2ABes clteldl
(B) Al Al
(C) (Bolta ulRne

(D) Bretton Woods Conference (D) Aol g5 ulRNE
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18.

19.

20.

21.

Contract which is inferred from the
act of the parties is called

(A} Quasi contract

(B) Express contract

(C) Implied contract

(D) Executed contract

Degree of freedom for Chi-square test

in case of contingency table of order
(4 x 3) is

(A) 4
(C} &

(B) 3
(D) 7

According to which approach of
human resource accounting the
actual cost incurred on recruiting,
selecting, hiring, training and
developing the human resources of
the organisation are capitalised and
written off over the expected useful
life of the human resources ?

(A} Historical Cost Approach
(B) Replacement Cost Approach
(C) Opportunity Cost Approach
(D)} Standard Cost Approach

A letter of acceptance sufficiently
stamped and duly addressed is put
into course of transmission. There
is

(A) a contract voidable at the option
of acceptor

(B) a contract voidable at the option
of offerer

(C) no contract at all
(D) a valid contract

18.

19.

20.

21.

5212 %@ UasRell stalsll uspulad
B Aol sdatHi wd 8.

(A) el uerll) sAR

(B) st (Aauu) AR

(C) aeld 52AR

(D) wHAH Y3l (s &es ) 52

VISEAS 201 (4 x 3) ol (B ste

ol wdlawer HR2 elciatetioll dou_—
8.

(A) 4
(C) 6

(B) 3
(D) 7

Hlolcldautlol Baololl s A@LH
YMIQL Aol Hiotctdidtotofl

e, urieoll, stadlol, ciclla ual
@statel aralds — W 3l-5d s3a

Hlotclid totofl GUABLAL AHAML
Hiscl sl 3d & ?

(A) AelRAs- wad w@on
(B) otecll-wal w@om

(C) dsfEas-wal wulox
(D) Yot -wl uf@o

wlls(@Qell U Yell Yaildel ual 22
A ARl sl A B, AR-

(A) 812 5260l [AsEU UR RElldd
AR

(B) 5212 vllUeilRell [Ascu uR 2eolde
5202

(C) s 512 a2l

(D) Hled 5
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22.

23.

24.

The treaty of Rome, which was signed
in 1957 by the original six member
States, laid much of the ground work
for the establishment of

(A) W.T.O.

(B) E.U.

(C) LM.F.

(D) L.L.O.

Minimum alternate tax is levied on
domestic companies and it Section
115 BAA and 115 BAB is opted under
special taxation regime the tax rate
is

(A) 9%
(B) Exempted
(C) 22%

(D) 15%

According to the VALS segmentation
framework, consumers primarity
motivated by ideals are guided by
(A) Knowledge

(B) Social activity

(C) Products that demonstrate
success to their peers

(D) Variety

22, Aol A®, B 3 & ue TN sl

1957 Hi sxcllaR salHl el 6l Ad
—ofl reustl 2 2L euodle] st 53,

(A) 50¢]. 8l vl
(B) . ¥.
(C) ues. AN, Us.

(D) WA . .

23. eU[s Ul uR dycH dsclls 82

GLECUHL A & ol A 56H 115 BAA
ol 115 BAB ul(M 52431 el 360
yle seHi 2 B d s-62 8,

(A) 9%
(B) (e
(C) 22%

(D) 15%

24. VALS M 2atell FHad yorol, uiesl

gl Ul sl all gt Ul

aa 8.

(A) SUst
(B) AHs yg@
(€) Al usndl ealacl Geauleall

(D) dlQtaicl

R A
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25. Total revenue can be found out by

26.

27.

(A) ARxq

TR
B___
()q

o AR
()q

ATR
D) =
q

Ballon mortgage is

(A) Short term floating rate on
mortgage

(B) Long term floating rate on
mortgage

(C) Short term fixed rate mortgage

(D) Long term fixed rate mortgage

While deriving funds from operations
for funds flow statement, depreciation
is

(A) To be added to Profit figure
(which is derived after deducting
depreciation)

(B) To be deducted from Profit figure
(which is derived after deducting
depreciation)

(C) No treatment is to be given to
the Profit figure (which is derived
after deducting depreciation)

(D) Ignored entirely

25. ¢l Alds el gt el asia B

26.

27.

(A) ARxq

(B)

(€)

ATR
ey
q

wet M (oieget 20) B
(A) W3l allA) ur ést ousuall drdl €2

(B) A3l (oflR1) Uz cicdl anoutell el
£

(C) &stawell Bl W20 €2
(D) ciott oltedl [ABlct W3l (202 €2

@Sl Yclduals Hig A UR3led
sl elstn ucll HIZ YUULRLa-

(A) oigtoll 5HML GRRcUMl WA B (¥
L VL s3lal ellucuni uicll B)

(B) otstell 21l 206l sreunl A B
(B U AL 53 ecunl vucl 8)

(C) etstoll 51 Aoy AvelHt WA B (¥
A3 AL 531 i vucl B)

(D) AYRIUR MRl seUHl wd B

¥
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28,

29,

30.

31.

Which one of the following statements
is not correct ?

(A) A person may not have assessable
income but still be in assessee

(B) An Indian company is always a
resident assessee

(C) Assessment year and previous
year can be the same under some
circumstances

(D) Surcharge is additional tax
calculated on total income

A contract of indemnity is a
(A) Contingent contract

(B) Wagering contract

(C) Quasi-contract

(D) Void-contract

Minimum capital adequacy ratio to
be maintained by Indian banks in
2021 under Basel III norms is

(A) 9%

(B) 8%

(C) 12%

(D) 10%

An agreement made with an alien
enemy is

(A) unlawful on the ground of public
policy

(B} unlawful because it becomes
difficult to be performed

(C) valid
(D) voidable

28. (1A USlof 53y [Quutot ALY el

(A) 88 clseloll yeuissta vitals of
Bl l wel d &% uel yeaisalsiz sla

(B) @rdla susll s1eu [Reul yeaiset
sdl slu &

(€) usRell o ual wog ad s
AoslolHL HMlLel 818 A

(D) UESR (AU gel wlels UR
IRl 52 ARl 52 B

29. dfdRell 5AR A

(A) ws@s (2dl) s2AR
(B) &ls 53R

(C) ut] (ueudl) s2w
(D) RE 5AR

30. Qe I YR 3601 204l el

olsl g2l Ay ysl validdl 9Bl

ol vl
(A) 9%
(B) 8%
(€) 12%
(D) 10%

31. YA £9Hol A 5RAR sl AeA

(A) 32 ofllAetl Y AslATUR

(B) JRsIATUR 512Q% A 5q HBed wlal
8

(C) HicA (SLATUR)

(D) Reollctdd

»
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32.

33.

34.

35.

In which type of conflict, one has
to choose between two undesirable
alternatives ?

(A) Inter personal conflict
(B) Role conflict
(C) Avoidance-avoidance conflict

(D) Functional conflict

The World Bank Group originated
as a result of Conference
held in 1944.

(A) Geneva Conference
(B) Bretton Woods Conference
(C) Texas Conference

(D) Sydney Conference

cost are also known as
imputed costs.

(A} Opportunity
(B) Marginal
(C) Total

(D) Historical

Many business buyers prefer to buy
a total solution to a problem from one
seller. This process is known as

(A) Channel consolidation

{(B) Systems buying

(C) Vertical buying

(D) Horizontal buying

32.

33.

34.

35.

sell Ystell Al el Q

A w90{l2L A5l o2 uieall sl
ysal ?

(A) lic? ol dud

(B) st dud

(C) 2lng-along dud

(D) stalents darl

19441 AnAet _ URMes
uReuR (Qa ols Yusll Ggaa &2l &l

(A) B ulRue
(B) 2ol 9528 uRME

(C) 2aux ul3Me
(D) Rsell URwE

— wa B/ ERA wa
(imputed cost) d3l¥ UL Ao eHi

LA B

(A) dscdls
(B) Ruic
(C) 3t

(D) AlAsRs

e Geuwes (ollwam) Wileel Asey
Auscl WAl AHILA2A AHRULA

Gy UdE 52 B. L yslaual sdauni
uld &
(A) Aot Sledlcfldaled

(B) flren wildl
(€) adlset wildl
(D) &3 Beect Wil
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36.

37.

38.

Reverse Repo Rate mean

(A) Interest on loan charged by RBI
to Commercial Banks

(B) Interest provided by RBI to
Commercial Banks

(C) Interest provided by Banks to
depositors

(D) Interest charged by Banks for
loans

Transactions undertaken specifically
to offset some exposure arising out
of firm’s usual operations is known
as

(A) Hedging

(B) Speculation

(C) Natural hedge

(D) Money market transactions

The International Product Life Cycle
theory was developed by

(A) Raymond Vernon and
Lewis T. Wells

(B) John Dunning

(C) Hood and Young

e

36.

37.

38.

Rel 30 22 ol 48 B

(A) R0l 28, st caudl olsl izl
Qe vl R uR causy

(B) 2R.0{l.208. gLl cwdl dsa
Y UHL dH Y

(C) ols gLl AUBLELRSA VUM
vleld el

(D) (RRAQL M2 ol8l sl Al vueld
L%

Vloll AlHLo cAcsRAM Gaeicll
32ElS WAL AR Sl Miall

dlelal sdala 8

(A) &L

(B) ugl

(C) sl ¥

(D) slell olostell ciaisl

Gl BicRAA Gewest Yast
Us Rgld [@Qsucteaunl vuell edl,

(A) o5 lollot i Al &l Acut
(B) %8let slelat

(C) &5 ua 2idt

(D) Stephen (D) ¥yt
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39.

40.

41.

Under the Bretton Woods system the
member countries of the IMF agreed
to fix the parities of their currencies
vis-a-vis the dollar or other decided
currency which in turn is tied to
dollar with variations within

(A) 1 percent on either side of central
parity

(B} 3 percent on either side of central
parity

(C) 5 percent on either side of central
parity

(D) 7 percent on either side of central
parity

The Advertising Standards Council

of India is a

(A} Government Organisation

(B) Self-regulatory voluntary
Organisation

(C) Statutory body

(D) Organisation of advertising
agencies only

Z test was designed by
{A) R.A. Fisher

(B) Wilcoxon

(C) Wald Wolfowitz

(D) W.S. Gosset

39.

40.

41.

[@eotgs ugldmi WAL o1l
UeAT A, AMell ARl Aot [l -
A-cly SR macl ofly «sdl s

AL ¥ % Sl WA siwAd & Al
_— uRdadet M2 Md ual

(A) ¥odlal UMLetciloll olal oltoy 1 25l
ydl

(B) ¥odlautMiotcltofl olal auey 3 25t ytll

(C) ¥odlat AMiotctioll ol sy 5 2L
Yyl

(D) ¥oulal Ulotelloll ol ooy 7 25t Yl

AL HL M2 LB uBwe A
(A} u=st3l Uolsat

(B) act-[AauHatsidl :AB®s Uolset
(C) dullls el
(D) HIA @A Bwar{lwlle] Aolset

Ps uRaalell 2ol gl3L scuHl
e edl

(A) 2. AL (322
(B) @Qetslatat

(C) dles Achlden
(D) SUEY-AY-ONAL
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42,

43.

14.

Match the following :
List - A List- B
1. Punjab a. Dena Bank
National Bank and
Vijaya Bank
2. Canara Bank b. Allahabad
Bank
3. Indian Bank c. Syndicate
Bank
4. Bank of d. Oriental
Baroda Bank of
Commerce
and United
Bank
of India

(A) 1-b, 2-d, 3-a, 4-c

(B) 1-d, 2-c, 3-b, 4-a

(C) 1-d, 2-b, 3-c, 4-a

(D) 1-c, 2-b, 3-a, 4-d

The Food Safety and Standards
Authority of India was founded in
(A) 2010

(B) 2011

(C) 2012

(D) 2013

GST payable by the buyer for gold
is

(A) 5%
(B) 18%
(C) 28%

42.

43.

A A AsSL A3
a1l - A€l - o

1. Uyslol ool ols  a. ol As wal
(Qegan ols

2. ¥z ds b. VUGELOUE ols

3. Babladel os c. RS2 ols

4. ols s WRAsL  d. ARAeee dAs
Uls Soslaul ol
Yalltfes ol
llseaslal

(A) 1-b, 2-d, 3-a, 4-c
(B) 1-d, 2-c, 3-b, 4-a
(C) 1-d, 2-b, 3-c, 4-a
(D) 1-c, 2-b, 3-a, 4-d

VULEL YREL ol @Los§ AWAREL 2y

gadlaul ‘oll 20l Uell TR TRT
] B,

(A) 2010
(B} 2011
(C) 2012
(D) 2013

- yal/yagl (lles)H WileelR alrL

Ysaal WA . il 8.
(A) 5%
(B) 18%
(C) 28%

(D) 3% (D) 3%
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45.

46.

47.

48.

In which stage of production a
rational producer likes to operate in
short-run production ?

(A) First stage
(B) Second stage
(C) Third stage
(D) Forth stage

is the perceived monetary
value of the bundle of economic,
functional and psychological benefits
customer expect from a given market
offering.

(A) Total customer cost

(B) Total customer benefit

(C) Total benefits of ownership

(D} Value proposition

The Second UNCTAD Conference was
held in 1968 at

(A) Geneva

(B) Nairobi

(C) Santiago

(D) New Delhi

As per the GST Act, the time limit
beyond which if goods are not

returned, the input sent for job work
shall be treated as supply.

(A) six months
(B) one year
(C) three years

(D) five years

45.

46.

47.

48‘

GAllEotoll S AMsSIHL dA&AoLc
Geules sl-aU0Uell GedlEotHL SIH

5cllo] UME 53 B ?
(A) YuUH coisst
(B) oflogl cussl
(C) oAl s’
(D) A& ceissl

— A Es, salHs WAHAd SRS
clellatl ‘oisels] sl sieulda yeu 8,

® HiB2 sl WesA vruHl vuelcfl
U g0(l whaw AN B,

(A) A AUes W

(B) §C &S Gl

() wcllslot se cuel
(D) HEL €W

1968 1| UNCTAD ol B ulRve si
Qe &cll

(A) [Rofle
(B) ol
(C) QAodlaudll
(D) otcll Rl

AUl Ase Yxol, AHA HAEL 3 Beil
Ul it Wl o8l 2ud Al Aoad e

WscaHl wWAA Betye Y sl
ARLeUHE vl
(A) © HEou

(B) 3ls ax
(C) 2l ay
(D) wiy oy
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49.

50.

51.

In which of the following types of
advertising timing patterns, do
exposure appear evenly throughout
a given period ?

(A) Concentration

(B) Pulsings

(C) Continuity

(D) Flighting

Which is not an associated institution
of the World Bank Group ?

(A) The International Bank for
Reconstruction and Development

(B) The International Development
Association

(C) The International Finance
Corporation

(D) Asian Development Bank

Who wrote the book ‘Management
Challenges for the 215 Century’ ?

(A) David C. McClelland
(B) Harold J. Leavitt
(C) Mary Parker Follett

(D) Peter F. Drucker

49 L

50.

51.

BActoll AHAA ualQauiell,
QAAcunmiell 56 A Uuald WA
YR AHAMUNL €12t WAL

dolsslal? 2wl 8§ ?

(A) Slodlag Lol
(B) ueloL
(C) 5edlej8sdl

(D) seussdlal
565 Q. ol el us2loll e otell ?

(A) Yst:EHIg s @sta H2ell
w2 ols

(B) ulidAEA Qs oset
(C) Al slivu ot
(D) AR [Astu os

‘NNz AU A2 U 2922 AYA'
Yels 51 cvy & ?

{A) A Al As5QS
(B) 3cs . Alde
(C) A3 whR sae

(D) @22 A% §82
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52.

53.

54.

55.

According to Information Technology
Act, authentication is

(A) To assure identity of user on
remote system

(B) Insertion

(C) Modification

(D) Integration

The firm’s short-run marginal cost
curve is increasing when

(A) Marginal product is increasing
(B) Marginal product is decreasing
(C) Total fixed cost is increasing

(D) Average fixed cost is decreasing

Tax rates of short term capital gain
covered under Section 111 A of
Income Tax Act, 1961, is charged to
tax (excluding surcharge and cess)
at the rate of

(A) 10% (B) 12.5%

(C) 12% (D) 15%

is a measure of
Communication effectiveness that

~describes the percentage of target

market exposed to a Communication.
(A) Frequency

(B) Reach

(C) Width

(D) Depth

52.

53.

54.

55.

Beflilalel 25Ul wRERAH Yud
yHells2el Aed

(A) §RRU ol Uil cAcRAUL UR 5LH
5cll calselell Wam sl

(B) GXq
(C) ¥

(D) sctst(AS1520)

Udlotl gst-ououetl Rnuictual as adl
@l 8§ wAR :

(A) Ruid Geuleot ay @ B
(B) Ruict Geauteot udl 28] &
(C) ¢t RAR W atll 26l &
(D) uz2AA AR W udl 6l B

uiasAA AR A2H 19616l scH 1114
ds0 vadl AciHi Aicel g5l ool
43l cletoll 52 €2 (w@s52 WA
GUSa GUE 5cll) 52 oll €3
Yl w1d B,
(A) 10%

(C) 12%

(B) 12.5%
(D) 15%

——— A HB AR URA WU AL,
Sect 2st Al ndicedl yeuldd aa
doj YHIQL elclld B,

(A) (Bsasdll
(B) A

(€) [@sa
(D) 3w

A
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56.

57.

S8.

59.

Raw material inventory turnover
ratio is measured by

(A) Cost of goods sold/average raw
material inventory

(B) Cost of production/average raw
material inventory

(C) Material consumed/average raw
material inventory

(D) Average raw material inventory/
cost of goods sold

What is the Income Tax rate under new
regime of Income Tax for FY 21 - 22 if
the income slab comes under the slab
Rs. 10 lakhs to 12.50 lakhs ?

(A) 10%
(B) 20%
(C) 30%
(D) 25%

The two components of labour cost
variance are

(A) Time and price variance
(B) Price and quantity variance
(C) Efficiency and rate variance

(D) Rate and quantity variance

Who said that the “only one social
responsibility of business is to
increase profits” ?

(A} Edward Freeman
(B) Milton Friedman
(C) Michael Porter

(D) Michael Freeman

56.

57.

58.

59.

slAMHIAe( HEaLlell 2slldr <l
Bt MW B

(A) AU Metall W / sl
A HIAALEL

(B) Geull2 d :ucoll Wl / stuHiesll
AR ALl

(C) HIEL duRial / stuHIAe( dRa
HIdALE]

(D} stuHicell qrRA2 HAUEL /
AAAA Mol W3l

o5 wLcisell AN 310wl 12.50 clw
o0 vt Al stusta ax 21-22 nee

AUl olall Aol 360 AR
YV 7
(A) 10%

(B) 20%
(C) 30%
(D) 25%

SH-W dstaldol A u2sl & :
(A) UM WA (BUd dslad
(B) (BH ol aveant dslald
(C) sliatMcll U €2 cAslae
(D) €2 ol w2l dglad

518l 56] 3 ‘Aol A As wHBs
Al HELD] oSl cutele(l & ?

(A) Asad FRat
(B) Mceat (BsAet
(C) HESsE WeER
(D) WSsc (BRot

A
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60.

61.

62,

63.

Who is known for suggesting
immaturity-maturity continuum ?

(A) Chris Argyris
(B) Derek S. Push
(C) A.H. Maslow

(D) Victor Vroom

As per the Sale of Goods Act;
movable goods does not include
(A) gas

(B) growing crop

(C) electricity

(D} money

Systematic risk is
(A) diversifiable risk
(B) undiversifiable risk
(C) total risk
(D) unique risk
describes the products
look and feel to the buyer; it has an
advantage of creating distinctiveness
that is difficult to copy.
(A) Design
(B) Style

(C) Durability

4

60.

61.

62.

63.

gL AUuRusadl—uRusadl Al
yudal 12 A fldl 8 ?

(A) Ba woilRaA
(B) 335 Bu.yel

(C) A, A=A HieA
(D) [@As22 gu

He A AR ywol, ¥
HICHI ol YA Al o1,

(A) S

(B) audl us
(C) (Qosull
(D) ot

UgluRe] sluu Aed

(A) ([Qeural slwH
(B) ulcleussal oiwH
(C) S WU

(D) wlotod AWUH

—wdletal Geuleolloll Bullal wa
Uojel(de] cplet 52 B, WA Al cleg B %
% oflost Gelleal cll REL B al Aoll
o5 sl wudl 8.

(A) BRiESat ~(AUALH )
(B) @8t (Acll)

() syrelclldl (2s1Guy))
(D) 5o%Hod (YU2lclcll)

(D) Conformance
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64.

65.

66.

In Monopoly, the relationship between
average and marginal revente curves
is as follows

(A) AR curves lies above the MR
curve

(B) AR curve coincides with the MR
curve

(C) AR curve lies below the MR
curve

(D) AR curve is parallel to the MR
curve

The mean of 11 numbers is 7. One
of the numbers 13 is deleted. What
is the mean of the remaining 10
numbers ?

(A) 7.7
(B) 6.4
(C) 6.0

(D) 5.8

While consolidating the Balance
Sheet of the holding company the
share of outsiders in the net assets
in the subsidiary company is shown
as

(A) Outsiders’ liability
(B) Assets
(C) Subsidiary company’s liability

(D) Minority interest

64,

65.

66.

ot AM], U2 Wl AHid v1esall
asl el ot oA Yoo B

(A) AR d$% MR dse{l GuR A &

(B) AR d5 MR cse{l 18 As3u B
(C) AR ds MR csefl o2 wacdl &

(D) AR d% MR cgoll dMid? &

11 dvaAllell u2A2A 7 B, As dvall 13
$18l ottuatHl 201d B, oufledl 10

du el HRRAA Y D ?
(A) 7.7

(B) 6.4
(C) 6.0
(D) 5.8

AlXal suslle] udy atsusll ud
AS-5 5l ama welrell calsalel
U2l suefloll vl WA oll Lol
galcteuni wua & :

(A) oslRell caulseloll arauaetdl

(B) ursaiHll

(C) vat susllell arcuoieldl

(D) ayHdl B (AR Soeree)
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67.

68.

69.

Loss from activity of owning and
maintaining horse race can be
carried forward from the end of
the relevant assessment year to a
maximum permissible period of

(A) 8 Assessment Years
(B) 7 Assessment Years
(C} 4 Assessment Years

(D) 5 Assessment Years

are major purchases and
are usually bought directly from
the producer with the typical
sale preceded by long negotiation
periods.

(A) Raw materials
(B) Materials and parts
(C) Processed material

(D) Installations

Supply of goods or services which
constitutes the predominant element
of a composite supply is called

(A) Common Supply

~ (B) Principal Supply

(C) Mixed Supply

{D) Continuous Supply

67.

68.

69.

alstoll E1sell HUAS wa s agllel
ygfAuiell «sulet Aoi@c wuswel
ol vicell HeTH BeplAuia
AHAU0 YLl v dY sl B -

(A) 8 wusi2e(l ad
(B) 7 wustell ay
() 4 ausRell oy

(D) 5 w5 axl

ofl WALE] A A Al Geauwles
WA, adicl aeiaidla i seuml

ladl wilel B.

(A) slAl WA
(B) Al 2al audt
(C) yBan sdcll ol

(D) SorelAglat

cl] AUl Aol Yabl ¥ Uy s
Yrebloll Jul clecioll Uil 52 B A
sdcMl wad B

(A) UHLeA YR8l
(B} vl Y<dl
(C) BB ya8l

(D) ¥Uclet Yyrasl
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70.

71.

72.

MASALA Bonds are

(A) Bonds issued outside
India denominated in foreign
currencies

(B) Bonds issued outside India in
Indian currency by an Indian
entity

(C) Bonds issued and listed only in
Mumbai Stock Exchange

(D) Bonds issued and listed in New
York Stock Exchange in only US
Dollars

According to the Gordon’s model of
dividend distribution and firm value,
current price per share is

Div . r(EPS - Div) /K
A) % K

EPS, (1-b)

(B) K-br

EPS,

(©) K-br

EPS, (1-b)

(D) <

Who wrote the book ‘strategy and
structure’ chapters in the history of
the American industrial enterprise ?

{A) Warran G. Bennis
(B) Peter Drucker
(C) Alfred D. Chandler

(D) James Burnham

70.

71.

72.

MASALA olles B :

(A) LRl GlElR WSCUHL WAE 6llos
@2all uctaHl ealaauni 24d &

elRcllar dzen g2 eurdla ucteml
ol celR %3l sAAcl cllos

HIoL HoieS AR oML Y(RAolg ol
#3523 o |

oydls AR olatMl Y AU SEARMI
YR uA M3 5 ollod

(B)
(C)

(D)

Bases-agugll vl Ul-yeaal
IUSetetl HI3E Yyt A€ELs ccdHlat-
HeU

Div , r(EPS-Div)/K
K K

(A)

EPS, (1-b)

(B) K-br

EPS,
K-br

(€)

EPS, (1-b)

(D) K

‘R Bod WHUAL AR Bel o Bl
s U WARS Boslact ANeeue
ollHa] Ycls SIQl clu & ?

(A) Rel % Al

(B) Mer €52

(C) 2ucks Sl WesER

(D) B oioletn



73.

74.

75.

76.

In the case of , consumers
dislike the product and may even pay
price to avoid it.

(A) Nonexistent demand
(B} Overful demand
(C) Irregular demand

(D) Negative demand

Health and education cess is charged
on Income Tax and applicable
surcharge at the rate of

(A) 1%
(B) 2%
(C) 5%
(D) 4%

The ratio of the standard deviation to
the arithmetic mean expressed as a
percentage is called

(A) Coefficient of standard deviation
(B) Coefﬁci’ént of skewness
(C) Coefficient of kurtosis

{D) Coefficient of variation

A computer falls into the

category of service mix.

(A) Pure tangible good

(B) Tangible good with accompanying
services

(C) Hybrid

(D) Major services with accompanying
minor goods

73.

74.

75.

76.

ofl Hiolell URRAAMI, aussl
el ols1R B el Asl ot Wilecusll
ugl Bud ysa 8,

(A) (et urelleet HioL

(B) ufda Hiat

(C) wlAM uisl

(D) olSIAHS HIdL

A0 wA Blael Gus: wesdA UR
YAl AUA B AMi wu@s
ALRLA(RRUW) ol €2 32l B :

(A) 1%
(B) 2%
(C) 5%
(D) 4%

WRRs Heas wua YHIBA RQuctelall
oelirtR 2slatdl dil} causd gAcl 8l

dl da
(A) YRl Qudstd Qs
(B) [QuHcutell oJRls

(C) daslscll <l JQus

(D) uctstis

sdctdl 2 8.

Actt —Hstoll vauEHl, slnge A——
Qoo wid 8.

(A) 4& 3y ULl
(B) Acw aucll 3 Qera
(C) BIsL VeLat

(D) ay 7 G2 Ac vuudl oltofl Nelat
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77.

78.

79.

What is the name of the test that
is used to assess the relationship
between two ordinal variables ?

(A) Spearman
(B) Phi
(C) Cramer’s V

(D) Chi-square

The horizontal axis indicates concern
for production and the vertical axis
indicates concern for people. This
is shown in which of the following
models ?

(A) Intergroup conflict model of Blake
and Mouton

(B} Managerial Grid model of Blake
and Mouton

(C) Models of behaviour suggested by
Argyris and Schon

(D) Five-forces model of Michael
Porter

Which is another name of second
quartile ?

(A) Mean
(B} Median

(C) Mode

77. A URagle oM g B B ol Gualal &

78.

79.

sHclUS AL asu Avitiell 2ustell
s HIE Al ) ?

(A) RAWRNA

(B) s1&

(C) BuRall

(D) 518 —aol

WISt udl Gauweat e9ld & wa Gell wdl

ASlot e 52 B, ay Al s
HI3c 1l eglcauni vuey B ?

(A} 6@s wal Hleols] icyU dud
3

6As U Heolo] NAxdact s
W3

(B)

UPIRY wal ot gl YuAe
cclotoll ot¥aitll

(C)

(D) HEsA e of uiu £dle] HBA

[Bellat auqeisof olloy olind 52 B 7
(A) Utas
(B) Htarel

(C) “gUSs

(D) Skewness (D) [@Quncu



80. Baumol’s model of deriving optimum
cash balance is given by :
(here b = cost per transaction,
T = Total cash needed during the year
and K = opportunity cost of holding
cash balance).

2bT

® g

2bT
® %

bT

© %

2b

D) %

81. VOSTRO Account means

(A) Indian Bank Account in foreign
countries

{B) Foreign Bank Account in Indian
Private Banks

(C) Foreign Bank Account with their
Corresponding Bank

(D) Indian Account in Reserve Bank
of India

82. Change in sign more than once in

cashflows over the life of the project
is a necessary condition for

(A) Multiple NPV

(B} Multiple IRR

(C) Multiple pay-back period
(D) Successful project

80. tedu Ass Rats ual H2e Ut
W3E B — (%2 b = cAcBlREls W,
T=ay g2l s&t A5Sall w3Rauld,
ual K=2s5 RAcs el
s (Aual) MRl dslEs W)

2bT

® %

(B)
(C)

(D)

81. VOSTRO uilq ¥2@
(A) euclla ds of [@Rell Al vig

(B) [@Qzell dlss] ettctoll vitatoll dls Hi
Wie]

() @l Asef Auoll Aof3u s WA
vl

(D) Axddls g SSlal eurclla
i

82, ‘Assell ResHl s 5cll AY vl

olEGL ¢ W %39 AR B -

(a) tglu Bl lldl w2

(B) «elQu AUFuRUR 1R

(©) olgldt ysagll —uHa-ouo w2
(D) ¥UsN Y52 HIE

S




83. Indian Company Law make it
for every Indian listed company and
other entity having more than ten

crore paid-up capital, to have a whole
time company secretary.

(A) Mandatory
(B) Optional
(C) Exclusive

(D) Voluntary

84. To justify that the market value of
firm is not affected by the financial
leverage M-M in their proposition - 1
takes help of

(A) Capital-asset pricing model
(B) Traditional theory
(C) Arbitrage process
(D) Lintner model
85. What is the maximum surcharge

payable in India at present under
Income Tax Act, 1961 ?

(A) 10%
(C) 20%

(B) 15%
(D) 37%

86. Future value of lumpsum amount
after ‘n’ period is given by

(A) F, =P(1+i)
(B) F,=P(1+i")
(C) F,=P(1+i)

(D) F,=P(1+¥)

83. Yyl uHA susll Azedl Awmen 2,

eRcllal Suell slAEl wa e35 el
@S sucll ua ey sAs ay
Ysall 33l unadl wo e W2
——0lolld B,

(A) sAPauct
(B) ds(@s
(C) QR
(D) (s

84. Udloj w2 yet Bella-clleRorell R
UHd stefl’ A ald oAl vyl W2
UH-AH Aol EWrcA-1 Ml HEEA § -
(A) YSl-ursaHd Bud A3t
(B) 32yt Rgicl
(C) euadR et ylsau
(D) @ozetz W3t

85, Rl was A AW, 1961 360
BLAML YsaalulA HedH s

ALLA (AR UIY) 32¢l © ?
(A) 10% (B} 15%
(C) 20% (D) 37%

86. s ASlgd /U] ‘0’ U@ udlej

el e GLRL UM WA
8

(A) F_ =P(1+i
(B) F, =P(1+i")

(©) F, =P(1+i)h

(D) F,=P(1+¥)
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87.

88.

89.

Which one is called non-probability
sampling ?

(A) Quota sampling
(B) Cluster sampling
(C) Stratified sampling

(D) Systematic random sampling

‘Grapevine’ is a term used in relation
to

(A) Formal organisation
(B) Informal organisation

(C) Formal as well as informal
organisation

(D) Neither formal nor informal
organisation

Before forfeiting the shares, a notice
of demand, requiring the shareholder
to pay calls of a specified amount
within

(A) 21 days must be given
(B) 14 days must be given
(C) 30 days must be given

(D) 7 days must be given

87. sl WS o (Aot Aeictott [Aedlat st

ud & ?
(A) w2l URA Fedea

(B) 91289 / B+l [(Aeslet
(C) ¥R Redlat

(D) uglQuze] aew Redst

88. ‘JYualtfol’ s AvE B Boll

Gulot —— AoluMi wa B,

(A) BuARs e

(B) AotulluWRs el

(€) WUARS Axes WolluAURS e

(D) oAl AWUAURS ¥ weluwlRs
AUl

89. 32 UlHled ¥elcl UdAl ARElEsA

Alctell A5 otsl 251 ol Aot WS B2l
R i erwe sal w2 Hiawllel
Al vuucl ud ?

A) 21 Rauul

(B) 14 [Raui
(C) 30 auni

(D) 7 (& auHl
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90. Private equity generally refers to 90. yisde gscldl unue A eel

91.

92.

(A) Shares held by the promoters of
private limited company

(B} Situation where the investee
company is not a listed
company and shares are
bought by the private equity
firm on private basis from the
promoters of unlisted company

Shares held by scheduled
commercial banks in an unlisted
company

(€)

(D) Shares held by a private limited
company in a public limited

company

The balance in revaluation account on
admission of a partner is transferred
to

(A) Old partners’ capital account in
old profit sharing ratio

(B} Old partners’ capital account in
new profit sharing ratio

(C) New partner capital account in
new profit sharing ratio

(D) All partners’ capital account in
new profit sharing ratio

If the substitution effect and the
income effect more in opposite
directions, then the good is

91.

92.

w8
(A) vedl MR . Suellott Mcuss1

LRl S AR

(B} R Asestk susdl yRotg o8l
U Ysde $sldl U st @
YRog susll otefl Aol Wusst
WAL vitetoll 2R A2 wdle cuni
LAl &

(€) % suoll YRoig atell A
(Qlsyes caudl a3 A e s &

(D) vitotofl MR Suoll sl w22
HaliR et Suollui A2 el 52 B

elRlleR-yael AHA Yeot: el sl
Widtoll sl 3UidRet scumiwud d

(A} %ol euolletotl 3Sl-WLeLMi ool
ewo(leldl opullciaui

(B) %otl @lo{letAotl HSl-WictiMi otell
@ofletdl opplctaui

(C) otell ewolletRetl HSl-WictiMi il
eolletdl ol ul

(D) ettt eloflEtRotl HSl-WicllHL olall
alolletdl apieiul

gl WA WA Ual Vs AR (A4
[Bouni wctt &a A, A axg

(A) GlaRdl sausil

(A} Inferior

(B) Normal good (B) dHLo2L clrv]
(C) Essential (C) vUlagus
(D) Luxury (D) Qeicl
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93.

94.

9b.

96.

Marginal revenue is equal to price
for which one of the following types
of market structure ?

(A) Monopoly

(B) Perfect Competition

(C) Monopolistic Competition

(D) Oligopoly

MIBOR denotes

(A} Malaysia Inter Bank Offered
Rate

(B) Mumbai Inter Bank Offered
Rate

(C) Medium Inter Bank Operating
Rate

(D) Middle East Interconnected
Banking Operations

An employee should receive orders
only from one supervisor. This is the
principle of

(A) Order

(B) Unity of command

(C) Unity of direction

(D) Discipline

Which of the following is an example
of capital expenditure ?

(A) Research expenses

(B) Taxes and legal expenses

(C) Customs duty on machinery
import

(D) Marine insurance premium on
goods in transit

93.

94,

95.

96.

@Al sau UsiRell ¢t HunuULHl
Ruid vuas dRuR Bud s .

(A) SRl
B) Yol &due
(C) SAYscl 3 SS

(D) WUCUSKS Fou1

MIBOR ¢2ld &

(A) HARaAL Bo20ls w8 22
(B) Holf o205 g8 22

() RBaM se20ls UL 2

(D) Rscetsre so2sases (3ol
vlUR Ao

sHAER 1oL As Yuasxs wll
gsH Anadl ASA. W _— oll Raid

8.

(A) g5

(B) it alell Ascl
(C) Rasll Ascu

(D) (@t
ol Ao U4l 53 ySl-walo] Gels B ?
(A) 2uotoll WA

(B) 52A3L ol slAELS2 v

(C) e 53A 1l uRell 5321
syl

(D) ¥ Hiet URdeatil B deof YRS
i QM
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97. According to William Ouchi’s Theory | 97. (QQaH s02llott Rigict Bs yyo, B R

Z, which is not a characteristic of (AR s01) ystzefl Suofliell
e A (American) companies
type A ( ) comp clal@ s o2,

A) Short term employment
(&) pleym (A) 25 oloUol Ao¥alR

(B} Individual decision making (B) BN Relalls2wt
(C) Rapid promotion (C) »sdl wadl
(D} Implicit control (D) aulelct (A2isie
98. A Type II error occurs when we 08. [&lAal ysiell eln Rl &z B osaud
AU
(A} Reject a false null hypothesis (A) vl Aas QQ‘[‘,{[ R scueliall
_ _ WURASLR
(B) Reject a true null hypothesis (B) Al RRus2etell URscueloll
URASR

C) Do not reject a fal 11
(C) Do not rejec se nu (C) viiél Rs2aell URseusiisll

hypothesis
AURASIR of 52
(D) Do not reject a true null (D) AR A5l UR seusAl
hypothesis WRASR of 52l
99. If a rightward shift of the supply | 99. ¥ y2aslas ¥Hell 2% waael
ourve leads to a 6 percent decrease Brcti 6 2stel ©21dl e ud Hidlett
in the price and a 5 percent increase . )
in the quantity demanded, the price WL 5 250 ofl ettt A AL, Hidloll
elasticity of demand is HRL Ul D,
(A) 0.83 (B) 0.30 (A) 0.83 (B) 0.30
(C) 0.60 (D) 1.20 (C) 0.60 (D) 1.20
100. Analysis of variance utilises 100. [AAR0e] [QeAMEl - o1l GUeIL 53 B,
(A) F-test (A) As-ulReal
(B) Chi-square test (B) stef-col ulRaw
(C) Z-test (C} Bs-ulRawl
(D) t-test (D) dl-uRag
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Space for Rough Work



